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8. Bending Moment (B.M.) at supports 1

A

7. In which Aestivation the members of

The angle between 2

with magmitudes
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|A) - (13} -
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n o

&} £ (D) 5

T : . -1OWTI1 S
[his dam of Harvana is also len

Gravity dam

(A) Hathnikund

(B) Anagpur dam
(C) Sannihit sarovar
(D) Badkhal

ElzE
a5
Ellt

rted beams is always

(B), Negative
(D) Minimum

case of stmply suppo
A Masimuim
4. Which of the following is not a SQL
constramnt ?
(A) NULL
(C) UNIQUE

(B) NOT NULL
(D) DEFAULT

5. Which of the following handlooms
uses geometrical designs ?

(A) Lungis (B) Durries
(C) Bagh Shawl (D) None of these

6. Whoisthe Current Chairman of Haryana
State Co-operative Apex Bank (HARCOQ) ?
(A) Arvind Yadav
(B) Geeta Bharti
(C) Rahul Uppal
(D) None of the above

4 whorl (sepals or petals) lie close to

Eﬂﬂ!‘l other without any overlapping of
their margins ?

(A) Valvate

(B) Twisted
(C) Imbricate
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2. BATN % 7wl vee affa ¥ am & of v

STl B
(A) BfgfrFz
AT (]
C) wfefea aiman
(D) sig@e
3. WTEWE; A T % Tua § sEe
(A) S lEmL (B M=
(C) A (D) =
4. T W 9 -5 0% SQL T 72 2
(A) e (B) AR
(C) I (D) fewiee
5, Taefoifiga d @ -9 aasn
wTirety fesmel =1 Ta FE @
(A) < L=
(C) ST 9T (D) 98 ¥ HE T
6. ST T B T HEER U o
(HARCO) % el H ? 7 ‘
_AA) arcfae aed
(B) e ¥l
(C) TS 3! B8
(D) 370 # @ 1 T e
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2™ Battle of Tarain was lought 1n

1:‘.\1 1182 (B) 1192 WP
C) 1162 D) 1172 & ]

3 i :
Width of foundation should not be less
than for single storey building.

(A} 750 mm |B) 500 mm
(C) 900 mm (D) 1 m

10. Rabindranath Tagore renounced his
Knighthood' as an expression of pain

and anger against the incident of
(A} Chauni Chaura

(B) Partition of Bengal

(C) Jallianwala Bagh Atrocities
(D) Partition of India

If in a certain language SISTER is coded
as 535301, UNCLE is coded as 84670

< and BOY as 129, how SON is coded ?
(A) 342 B) 524
(C) 923 (D) 872

On which date, the Indian Govt. set
up the Shah Commission under the
Chairmanship of Justice J.C. Shah
to divide and setup the boundaries of

14, Siraj-ud-daula, the Nawab of Bengal
defeated by the British in the Battle of

Plassey in the year

DC - 2021

B, FTET T A0 H ey o

(A) 1182 ,/y—., 1192

(C) 1162 (D) 1172
9. fta i dvgrs vEmEEl wwE 7

H wn aP] 2 =R |

(A] 750 mm (B) 500 mm

(C) 900 mm (D) 1 m
10. TEfzATE 2 A 1 2 F faoa o

o 3 g & st % w0 d AR

#H Infy ez 6 4

(A) =T =

(B) T 1 faars
ﬁc;afﬁa?aﬂamm

(D) sTE 1 fawrsA

11. U AMTH SISTER #I %2 535301, UNCLE
1 F 84670 HR BOY F1EZ 1297, SON
=1 fora gern Feas, T = L'
[A) 342 3y 524

(C) 923 /:[m 8772

£ FeIE T T SET GEE S S

1 femd faife = % T s=m @ ¢

e

12.

Punjab and Haryana ? /@] 23 W5 1966 3 DG"“’F
(A) 23;: Mayllggﬁﬁﬁﬁ 3 Aoy 060 -"’";-El bl
(B) 23" April 1 e ﬁ;{%
(C) 25* June 1966 (C) 25 S o
(D) 25" August 1966 (D) 25 A& 1966

13. In topology, each node is | 13. Eﬁ’ﬁfﬁﬁ i, U ATS & % 4l
connected to two other devices, one 3131 ITEHTOT @qg\@—g‘m% i
each i;:n either side. ) . B) BN
(A) Ring (B) Star -4
(C) Bus (D) Mesh AR5 (D)

(A) 1765 (B) 1756
(C) 1764 (D) 1757
21000017
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15. The value of i* + 1"+ 1"+ " ig

\A) 1 (B) - 1
) 0 (D) 2
16. According to Sacchar formula, which
among the following districts of Haryana
came under Hindi area ?
(A) Gurgaon
(B} Hisar
(C) Rohtal
(D) All of these
17. command is used to create

a new object at a specified distance
from an existing object or through a
specified point.

(A) Prolong (B) Trim

(C) Mirror (D) Offset

18. The type of mirror used by dentists to see
larger images of the teeth of patients is

(A) plane (B) convex
(C) concave (D) plano convex

19. A and B are siblings. A is daughter of
C, but B is not son of C. E is the father
of D and Grandfather of B. D is the
brother of G. G 1s not married. How 18
Crelatedto D ?

Bl
(A) Husband (B) Wife &
(C) Sister (D) None of these

20. The amount of the filtrate formed by
the kidneys per minute is called
(A) Proximal filtration rate
(B) Distal filtration rate
(C) Glomerular filtration rate
(D) Henle’s loop filtration rate

ThJ.a town is considered to be the
political capital of Haryana

(A) Kurukshetra (B) Ambala
(C) Yamunanagar (D) Rohtak

21,
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15, it+it+it+ P FHAAS
(C) O (D) 2

16. TwAT HIHeT % AR f“xqf“ﬁﬁaﬂﬂﬁﬁrmm
s g P A @ F e aae? g
% il :f:rf"rﬁﬁ'?hﬂ 2
(A) T=TI= o
(B) feem
(C) TIEd

/LD]‘i:rHﬁ?
17 o FT= 1 FE U HisEl 35 A
v fafdw fig 4 vw fRfde 2 W 0% 72 95

T % fore wgFa il 2 |
erﬁ?i"m (B) TG
() i (D) HATHEE

18. WSt % Aidi 1 wfafeE &2 Fi <@ % o

UFN 2
(A) THAA (B) 3T
) #=de (D) FHAATA

19. A R B ¥E-9=A2 | A, C &l Tl 2, T4
B,CH Ad2 | E, D& fian 2 31

BFIZE2 I D, GH AR 2 | G faanfea =
2lcTFE TR DE Aafua ? 7 53

(A) fd (B) T=h
_(C) 5 (D) 37 § 1% 7l
20. 3% W U iz a9 Tt iz 4 e |
FEAT 8 |
(A) TRy FETE 2
[E]Wﬁ'ﬁﬁ_ﬁ!
}]ﬁﬁﬁ'ﬂﬁmﬁq_ﬁ
(D) e il T e =
21. 35 A @ EfEn i Tefr THaE FE
S 2 .
(A) FHE lﬁlﬂ
(C) FGTAT 2
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he 19 Asian Games will be hosted by
(A) India (B) Japan

(C) China (D) Indonesia

2. The 18 intended to detect the
obstruction in the sewer,

(A) Lamphole
(B) Manhole
(C) Trap

(D) Vent

24. What is the condition of stamen in which
stamen does not have an anther ?

(A) Astamirmde

..........

ate eFarrir e

Ate SLAaIT B
,,,,,,,,,,,,,,,,,

his 1 ~' ?H“tht ”tr‘l’n‘titarj? of {'}haggar
(A) Sahibi

(B) Kaushalya

(C) Yamuna

(D) None of the above

26. Ifx-iy=3+4i, then x*+ y?=
(A) 7 (B) -
(C) 25 (D) 5

27. One kilowatt hour is equal to
(A) 3.6 x 10°J (B) 3.6 x 102J
(C} 3.6 x 10°J (D) 3.6 x 10%J

28. Find the missing letters.
= __baa__aa__aab
! (A)baba (B) aabb
(C)bbab (D) abba

tsl;-ﬂtanpur National Park is situated in
€ district of Haryana.

(C) Rewari - B2 N
(D) 31!'851 m s (:f'\ = [(D} famEn {50\

DC - 2021

22, 19 4 ufvraré Aef i wwaEh _ wm |
(A) W@ N B) =TI
(€) = //f/:D}EHﬁPJT?

‘ #1 wom et d A0 F O

RUCE RGeS
(A) SR
_~B) e
“(©) ?;'4

(D) =<

24. Wﬁwﬁdﬁm%ﬁ?ﬁwn
QIATRIST ARl el & 7
(A) TEITEATS

23.

25. ¥ 921 g <l UEE T4 ©
[A]mi%a"l |
_AB) e
EggE (C) FHAT %
Ba% D) IEF I I

26. A x-iy=3+4id, Ax2+y2=

(A) 7 (B) -7
(C) 25 /Jp} 5
27. U foheiame =e & TR |
(A) 3.6 x 10°J (B) 3.6 x 102
(C) 3.6 x 10°J ) 3.6 x 100J
28. T & T
baa/ aa' aab
(A) baba B) aabb
(C) bbab v‘*)]abba
W i & !
g |
(A) FTAHT

"‘g]m
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DC - 20
30. The Portion of 21
surface of Thﬁ Structure between the 30 2 W e s
and the surfa-::i E[urmundinﬂ ground SN FTHT TW T o it e T a0
the ground is calleq - 10" frSt above ST S T A < SR 3 Wil O e
(A) Porch ' %1 9T FEATA B |
(C) Sill (B) Plinth A) T (B) frrr_r_-u,;
D) Floor () fae (D) T
31. : . g
intelligisehuﬁszd thatuses artificial | 31. @ ﬂ 1:7 ;; Fhm ;ﬁw
facial S data processing, fqﬁ_['dq?q gﬂ il HE WTI‘”TTFT
Clal recognition and also imitates Frefl & @7 OFEE FEYE el I8t % i
human gestures and facial expressions. £ qc I FA2 | -
iy (a) &R 7
(B) Sophia /ua} aifEa —
(C) Alexa (C) T i)

(D) None of the above (D) IqLEd H H FiE J81

i the UN World Happiness Report, 2021 | 32. SR ferea vg=r fate, 2021 & 9va

India placed at &l W@
(A) 120 Position (A) 120 3 TIH
(B) 140" Position % (B) 140 o TIH
(C) 125* Position B (C) 125 9 ¥aH
(D) 139 Position __(D) 1399 ®IH
Rani Kaur Ki Haveli is a famous location | 33. T 1 i gt F=feiad o § 58 TR
for which among the following types of £t S & v s yRE TE 2 7
painting ?
(A) Mughal (B) Rajput (A) T _AB TsTqd
(C) Gupta (D) Mural (C) T 7 (D) Hi&
34. Multiplicative inverse of 2 +11s 34. 2+ i TUICHS GEIEE:
5 Dy 2~ S —1
A) — 5 o \#L,]JS
2 +1 2+1 2+i 2 +1
= D) — C) — (D) —
g e T
l:. o s -. = ug_‘ .
3.5. Which planets of our solar system are | 35. T % -4 T
called as ‘Inner Planets’ ? FEAA & ¢
(A) Mercury, Jupiter, Uranus and (A) 94, Fewfd, g afr wifA
(B) gimSatm, Mars and Mercury e e maﬂajT ¢
’ () 39, T, 17 ST

(C) Mercury, Venus, Earth and Uranus
(D) Mercury, Venus, Earth and Mars

A 6-

21000017
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n n
& T 1 1 & -2 I
36 he value of n if -J’LT,; - 80, | 36. #R iy X -2
ne N is _1..- h o) 80, n
HA®
(A) 4 B) 3 ,/H\l 4
(C) 6 (D) 5 C) 6 LHT.}
D
37. Theancient site of Kunal and Banawali | 37. %9 AT AT U T
is said to be located on the banks of :'{_ﬂpT N alaliui
river 2 ki i L
(A) Yamuna (B) Markanda (A) TG (B) AR
(C) Saraswati (D) Ghaggar }}Hﬂa?ﬁ (D) =
38. Computer is anetwork security | 38. ?EI{@{ 1 0 T 2E T T
system designed to protect a trusted %ﬁ@[ﬁﬁﬁpg:ﬁaﬁm TETE T s
private network from unauthorised | gEpaE Hﬁ'ﬂmﬁ?@ g aTEl s ﬁ'f.—r;}::,
access or fraffic originating from an ﬁ% o e _'l: e
untrusted outside network. = ﬁ;ﬁ E % T _f..:.jm
(A) Spam (B) Anti virus (A) TOH B) T A
(C) Firewall (D) Cookies (C) HEETA (D) el
39. Arrange the words given below 1n a 39. ﬁUTFE’ﬂFETH;I Uch T F | =afen
meaningful sequence. FHifsu |
1. Police 1 -E%'H
2. Punishment 3 TE
gigm S Cnme 3. Y
%@g 4. Judge 4. TTETE
WWS 5, Judgement o
A) 5,4,3,2,1 (B 1,2,4,3, S (A) 5,4,3,2;1 B) 1,2,4,3,5
(€153, 1,2244%; 2 (D) 3,1,4,5,2 €) 3, 1,2, 4, 5 j};} 3. 1,4,5,2
40. Which of the following lenses would | 40. mﬁmmﬁ e ) TEd T
you prefer to use while reading small mﬁ:{%ﬁ@,ﬁﬁﬁ@q_mmww {
letters found in a dictionary ? T
ST 50 cm &1 T 3¢
(A) A convex lens of focal length S50 cm /;] 5 TS 50 cm ETE e
(B) A concave lens of focal length 50 cm (B) : 5 T et o
(C) A convex lens of focal length S cm (C) AETY E'f-'”g S5 cm EAHHH?W
(D) A concave lens of focal length 5 cm (D) BaEa Sars 5 cm TP i .
‘ T g |
41. In Haryana Star monument houses the | 41 Freil CRA GG ; SSES
samadhi of (A) ECARIL
(A) Neki Ram (B) ¥ AT
(B) Devi Lal ;
C) dil L
(C) Tara Chand 5 am
(D) Nawab Fadai Khan (D) c
£ Y
& L ¥
e .9 N & $ q-ﬂ"f



te?

42. The two };
. 1€ two
i lines ax + by = ¢ and ax + by = ¢

A€ perpendicular if
(A) aa' + bb' = 0
\B) ab + a'b' = g
\IC) ab' = phy'
(D) ab' + ab = @

43. Operator i Python evaluates
to False if the variables on either side of
the operator point to the same memory
location and True otherwise.

(A) Is (B) Is not
(C) In (D] In not
44, ‘Cow isrelated to ‘Herd’ whereas ‘Lion’
. is related to Elzdls
{A) Colony (B} School @i
(C) Hive (D) Pnde
45. Which among the following districts

of Haryana is known for its furnishing
fabrics and carpets ?

(A) Panipat (B) Panchkula
(C) Mewat (D) Hisar

46. RCN+SnCl, + HCI - RCH =

NH i » X. X 18
(A) R-CH, - NH,

(B) R - CHO

(C) R - NH,

D) €H, - CH,

47. Which is the cleanest city in the Swachh

Survekshan 2021, by the Ministry of
Union Housing and Urban Affairs ?

(A) Indore

(B) Gurugram

(C) Patiala

(D) None of the above

21000017

DC - 202,

42, @ @ ax + by = € HT ax + By =
evarad gl At
(A) aa’' + bb' =0
(B) ab+ ab' =U
(C) ab' = ba’

)JJJ] ab'+ ab =

memmmnﬂrﬁm

43.
ﬁaﬁﬂﬂﬂ?ﬁd%mm‘amﬂ L
TR TeTd 1 Hed i Hal & 3T 3=
Hel &l |
(A) Is B) Is not
(C) In ”,:Dll In not
44. ‘T FEey ‘T2 AR, SafE IH H HaY
R
[A) AT (B) =l
() BlR. D) WTEE
4&.Ehmmarﬁm%ﬁmiaﬂﬁﬁ?ﬁm?m

BT 191 371 TTefE o foTe ST S @ 7

/;Ay BIEin (B) T=rERe
}% (C) AT (D) feEm

6. ERCN+ 51‘1{:13_ + HCl - RCH =

NH —2 5 X|HX2 Remmnt
(A) R-CH, - NH, 2CH, Nhe
(B) R - CHO o2l

(C) R—NH,

/}) CH,-CH,

47. FET FEW 3 = A F g3 T
feRt, 0 &= Tae0T 2021 1 FH-T] =
ﬁﬁaatl%?

)
/{l; TR
(C) ufeTe

(D) 39U H ¥ S 7




43* rl.llll' :":I““.

(A) Tige
(C) Black SR "

Animal 0] Hnr.l-nrljl 18 "1H 1

: . ALE L

[14) Elephan| 1111 %51 1y 7 o 3
Al & '

Hbove (L4} &7

Fgn '+I ¢ ol 'r.J
49. Ihe 'l'”l""!"HH whii § Ll I | ’LL" o J“' L) 3\ an FT* TH
® 3 LIS S M eV e i1 ”|r' i o & o
| absence | 49, 4 o~
l: ence of OXVEen 18 "-'i“l‘{l {17 e fi }1.1I'!|“.r-.a;[,1 O 779 b —
11 ['ﬁ"ll AIZ‘I'IJ'HH' |'1'-,-'.,|-|””“““ Fr 7
F . ] | o L
i) B) Anaerobic respiration (A) e 7o
(C) Photosynthesis o rlli”ﬂm s
: el . AN L AV B P
() Digestion "":;;: - .
J CE
5“1 r!hi]t.‘ { 1 % - 1 .l L] ¢ , - - S
pomnts at which the tangents to | 850. 498 f&'ra: BT v = x* ~ 12x + 18 3 ot

the curve y = x* - 12x + 18 are parallel

ol Al T3 x- A7 F 5o 7271 B

to X-axis are ¥
=
(A) (2,-2), (-2, - 34) (A) (2,-2), (~2,-34 e
[E} iu- 34:‘: [""' 2, ﬂ] (B) (0, 34), (- 2, 0)
(©€) (2, 34), (-2, 0) (C) (2, 34), (-2, 0)
[D] [2. 2}, '["" 2, 34} '/U}i le 2!. = 2. 34|
51. This wildlife sanctuary is also known | 51. %# :J:_'T':’lr"li'ﬂ H'-I"J.'T:"":-'. | HaEE 31 A = |
as Seonsar forest EIGIE }f"* :
(A) Nahar (B) Saraswati (A) T{'I‘?T 5 y oo B r:r:?-" —
(C) Bhindawas (D) Chhilchhila (C) TazEm Y (D) il =
52. Leastcountofthe metiument | 52, T3 FHGR UM 207 ®
(A) Theodolite (B) Dumpy level B TSIIRS ‘ i
(C) Compass (D) Total station (C) =H1E }? it
HTTP stands for 53. HITP#HF J¥e
53- =) ELI-]. ) 1 m \ H|E|3-|El
(A) Hyper Text Transfer Protocol {[;}l mm'[ mam[,Elli TP
E— & (B) Hyper Transfer Text Protocol | SIARE RN m
Bid (C) Hyper Text Transport ?fﬂtﬂmi /{f—_:” 2T ZETE TAEE T
Text Protoco i g i
(D) Hyper Transport 1€ , | wa. e T ey TR W 0@ (T
al number of days guaran e yyyefyor @ o —
54. The total n the Mahatma pferfaem, 2005 . 3
wage employment that T ent : ﬂaﬂﬂgﬁﬁaﬂm% 1
Gandhi National Rur al Employme o1 S 4
|
2005 assures
Guarantee [MGNRE.:G} i 150 (B) 365 &
S
to the rural peoplée 1 e e (A) - D) 907
(A) 150 days (B) 2 }] 100
(D) 90 day A

(C) 100 days




S5.

Roshan i1s taller than Hardik who is
shorter than Sushil. Niza is Laller than
Harry, but shorter than Hardik. Sushil
1s shorter than Roshan,

Who 1s the tallest ?
\A) Hardik
{C) Roshan

(B) Sushil
(D) Niza

56. Which among the following districts
of Haryana has maximum area under

Maoderately Dense Forest (MDF) ? B33
(A) Panchkula (B) Kaithal F&';‘%
is the process of sinking of

(C) Karnal (D) Jind

edge of one piece of timber into another
by cutting grooves across it grain.
(B) Housing
(D} Rebating

S7.

(A] Nosing

(C} Shooting

A soft iron bar is inserted inside a current
carrying solenoid. The magnetic field
inside the solenoid

(A) will decrease

(B) will increase

(C}] will become zero

(D) will remain the same

58,

In a group of 5 boys, Vasant is taller
than Manohar, but not as tall as Raju.
Jayant is taller than Dutta, but shorter

than Manohar,

Who is the tallest in the group ?
(A) Dutta (B) Jayant
(C) Vasant (D) Raju

59.

Who is the Current Lokayukta of
Haryana ?

(A) Hari Pal Verma

(B) Reva Khetrapal

(C] Nawal Kishore Agarwal

(D) None of the above

60.

55.

=t | a0

|-'Ir‘_r| I-| r.-|:
4

=] - -
Fh _'II .I.I'I.II__.' e

;T]?-f'—L SR APl

I .
e,

Pl H
raTe H BIETE |

GAEREE r{. el f

(A) _'ﬁ'l* (B) 737+
(G 357 (Y | o VI = = ¢
56. GHAT Fefefea 4 7 #9-a1 e 154730
T4 34 (MDF) & Saa sfasam a0 g 2 7

A) TEEE] (B) T
(C) AT (D) =2

TSl o U 3 % [0 F1 26 1

57.
MW%W O S & F2a 954
=l Uiha © |
(A) AT (B) =3TEm
(C) vIfem D) fatEm

S8. TH Q|lqlih$1$ﬂﬁ?u*?rﬁ|F
ﬁgﬁﬁﬁﬁﬁ% Itrh:nﬁﬁTETf ik 3:11-41
SE
ﬁA}‘JE'TI

) T
(C) EE’IT‘HWTT
(D) HHE &M

59. 5 TSHI % UF TUE § 944, TATE © e ®

GRS AELEIRSE e usm_a ?mnﬂ’ﬂ!

IGR IR e ra

YR H a9 S HHE 8 7 R
(A) g (B) @@
() ¥ DT

60. &fET % A SrEHEE A 8 7
) &t ure Ju
(B) @1 @I
(C) T e SETe
(D) FTE | H Fig TE
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65.
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D
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Which of the foll

owing districls of
Haryang

1S covered under Uttar
Haryana Bijli Vitran Nigam Limited ?
(A} Bhiwani (B) Kaithal

IC) Rewari (D) Mewat

in Python 18 raised when the
file specified in a program statement
cannot be opened.

(A) SyntaxError

(B) ValueError

(C) IOError

(D) None of the above

63.

The type of writ issued when the Court
finds that a particular Officer is not
doing legal duty

(A} Habeas Corpus (B) Prohibition
(C) Mandamus (D) Certiorari

s is primarily responsible to
implement Sarva Shiksha Abhiyan in
Haryana State.

(A) Mukhya Mantri Shiksha Deeksha

Parishad

(B) Haryana School Shiksha
Pariyojana Parishad

(C) Rashtriya Madhyamik Shiksha

Parishad

(D) None of these
occurs when same data

maintained in different places do not
match.
(A) Data Rﬁdum‘:iancy
(B) Data Inconsistency
(C) Data Isolation
(D) Data Dependence

64.

6. Find the mirror image.

bC - 202,

r.. EEGIREC i AZZ % -t
T 7 oy
(A _1u-n:h _AB) Fom
(C) Taré (D) H=Ta

62. v @& I7m e wrn  w
aramm 2wz 4 fafée wme 71 wren 28 =
o | |
[A) SyntaxError
(B) ValueError

/JL] [OError g—:"im

(D) I 838 )

fz =1 98 var o8 a2 9 B 3 2 9=
e @l J e & 0 AfaEnt a9
f&rf“ﬂaaﬁaq:m_‘iﬁmrﬂw*

(A) =] FoTEf=Fm ;H; .

/,,LC]WJEL (Dj

Iﬁ?m ! r“..- 1 4
W—[ﬂ% 1?’-‘45-":1*4*1 e 1r--: 33

/m HEImAl e e gie

63.

J'-i

() B faaem e afen 9
(C) T et faen aite
(D) 3 © 13 Tl "
65.  TER R e S -3 il R
@ T g 2 T T E |
: G il 1
(A) Hiﬁ_ﬁ
/AE} crafetuin
(C) & A
(D) & T

E

XL
A) | xr B) | LX
o) [ax D) | 1X

2900001 /
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67. Window where shutters open like door
are called windows.
|A) Sliding (B) Sash
(C) Bay (D) Casement

Gurgaon-Manesar-Bawal region ol
Haryana is famous for the production of
(A) Pharma
(B) Automobile

68.

(C) Agro products -

{D} IT products %ﬁ =

- te
). Phosgene is

A CEGCIQ (B) Ca(OCl),

{c) coal (D) COCL,

The equation of the circle which passes
through the point (4, 5) and has its
centre at (2, 2) 1s

Al x=2)+(y—-2)°= 13

B) (x-2)*+ (y+2)=13

(C) (x+ 2P +(y+2)*=13

(D) None of these

Indian Institute of Corporate Affairs is
located at ____in Haryana.

(A) Murthal (B) Jassaur
(C) Kundh (D) Manesar

The position of the earth nearest to
the Sun is called as

(A) Apogee
(C) Aphelion
Horizontal distance between faces of
two consecutive risers is called

(A) Going (B) Nosing
(C) Effective span (D) Scotia

(B) Perigee
(D) Perihelion

Haryana Govt. has setup an Indo-Israel

74.

Horticulture Project at Karnal to enable

farmers to grow
{A) Kharif crops
(B) Flower

DC - 2021
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A FEL
(B) *
(C) Ff IR
) SR
69. Il TF 2 |
(A) CaOCl, (B) Ca(OCI),
(C) COCI (D) COCI,

70. 39 9 1 GETE 91 2, S f6g (4, 5)
& TR Ud SHEH BF (2, 2) B 7

AT (k=24 (-2 = 13

(B) (x—2p +(y+ 2/ =13
(C) (x+ 2P+ (y+2) =13
(D) 3H & 1S e
71. BN H YA RIS GHA] 1 G8H
HfEEe | )
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(C) Fecl (D) HHER
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ELRE

(C) Fruit
(D) Unseasonal vegetables
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75. Fill in the blank with

phrasal verbg fr om
given below it

appropriate

the ;ralt::*rnutiwt:‘-;

While digging, the farmer | _=
pot full of gold coins.

(A) came upon

cl

)] came around
(C) came off
(D) came by

76. Fill in the blank with appropriate
conjunction from the alternatives

English Language

Ea I @
i
[=]ey

given below it.

The girl is clever

—  theboyis
dUII. 2 ._i':l'l? R ———
[A) but | and
(C) or (D) because

77. Fillin the blank with suitable collective
nouns from the given choices.

A

(A) herd
(B) fleet
C) crew

of ships.

(D) quiver

78. Choose the right form of the verb given
20 in bracket from among the alternatives

ﬁ' given below it and fill in the blank.

The sheep scattered in great frenzy in
the field for a wolf (enter).

(A) enters

(B) has entered
(C) had entered

)D} entered

21000017
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79,

Fill in the blank with

PrEposition from the ¢
below it

APpropriate
hoices giy

£l VEen
He insisted
(A) in
(C) for

gomg there
“-'“ 0or

‘,UJ! 1o
80. The followi

Ing sentence contains
grammatical error or idiomatic error

it it. You have to find out that part of
the sentence and choose the alphabet
of that part as your answer,

This institution was set up in memeory

of Alfred who was by accident shot by
his son.

(A) This institution was set up in
memory of Alfred
) who was

(C) by accident shot by his son.
(D) No error

81. Fillintheblank with appropriate concord

from the alternatives given below it.

Either Lily, Mary or she
passed.

(A) are ~p

) has j

(C) were
(D) none of these

82. Choose the antonym of the given xj.rmcl
from the alternatives given below it.

Benevolence

(A) charitable
(B) malice

C) sympathetic
(D) advance
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